
Answers

litres – bath, bucket, paddling pool

millilitres – bottle, yoghurt pot, spoon

5 litres, 3 litres, 1 litre

The metal bucket has a capacity of two litres. It is smaller than the 
blue bucket so it can’t hold more (ten litres), but not so much smaller 
that it would only hold one litre.

55l ÷ 5l = 11 or 5l × 11 = 55l

11 bucketfuls of water will be needed to fill the pool.

5 × 10l = 50l

The kitchen staff buy ten litres of milk a day. They would need 50 litres of 
milk for a school week.
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